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PART 3: ELLIPSES:
=y , G-Ky*
a2 i b2 =1

General Formula:

Note: You Almost definitely want to do these on a separate sheet.

1. Find the coordinates of the vertices and foci of these ellipses and sketch each.

X2 y2 . _
_ X ¥
(c) 4X2+25y2- 100 (d) E‘F'zg = 1
. (X‘3)2 (}"6)2 = T~
(e) 2 + B 1 (f) 4x+2F+(y-5°=4

2. Each of these ellipses has its center at the origin. Find an equation of the ellipse.

(a) vertex (7, 0), minor axis is 2 units long (total length)
(b) vertex (0, -13), focus (0, -5)

(c) vertex (0, -9), minor axis 6 units long

(d) vertex (17, 0), focus (8, 0)

3. Sketch the graphs of 9%° + 2" = 18 and 3x +y =-3 on a graph, then determine the
points of intersection algebraically.

4.) Find an equation of an ellipse with A focus at (0, 5) and eccentricity e=2/10
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o idnt need o dﬁm;‘\ ¢
b) You didn't need S ged ts
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V: (922, 0) and (927, 0)

F2 (gm,0) awd (-272,0)
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